E£O5F WMEEH - ElEF - ERKRIE
(Adjectives, Adverbs, and Comparison )

§ 5-1 &5 (Adjectives, adj.)

RZE 1 #E BRA%R)
This compound is metallic. (s + v + ¢)
R 2 aEzEMm RERAE)

This is a_metallic compound. (adj. + n.)

4

It melts at a temperature similar to that of aluminum. (n. + adj.”a])

g
FRICEIREET HHEHA
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1. similar / same / identical

W: ** We used a similar apparatus as used in our previous experiment.**

R: We used an apparatus similar to that of Smith and Jones.
R: We used the same apparatus as (that) in our previous experiment.
R: For this particular quantity, the classical mechanics and the quantum

mechanics give the identical result.

“similar to” (JEELD) & *“thesameas” ([Fl—D) I1XEWN RS, FiFIdE
PLL TV D 0E—TIERWEE, #FIZR LD THLIHLEICHND
W: same as, a same as — R: the same as

“the identical to”i% 4
Ao

ELRE=O] E0 ) BIRARNZHEH L2 e 2o

2. able to

W: ** These values are able to be fitted to the experimental curve.**
R: These values can be fitted to the experimental curve.

“are able to be” IZEHFRICFZ 2D DT, “canbe’ 2 WA & ThHD.
“Ais capable of n. (or ...ing).” £\ 9 HEL H 5.

3. applicable to
W: ** Equation 1 can be applicable to this device. **
R: Equation 1 can be applied to this device.
R: Equation 1 is applicable to this device.
“can” & "able”iE & HIZHRER Z A BT 5D, HhE
KL > TN 5.

(381)

BV OB TIIIEFED

4. negligible
W: ** The effect of this distortion can be negligible. **
R: The effect of this distortion can be neglected.
R: The effect of this distortion is negligible.

O & DRIDOHI & [FkE.

5. dependent on
W: ** The current is independent on the voltage. **

R: The current is independent of the voltage.
R: The current depends on the voltage.
R: The current is dependent on the voltage.

“dependent on” & "independent of” & {E[F L 72V & 9 12
“independent from” |Z72
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6. determined § 5-2 EIJEE] (Adverb, adv.)

W: ** The unit cell was determined to be face-centered cubic. **

R: The unit cell was found to be face-centered cubic. v., adj., adv., LR EaEAM.  (cf. nZ2Efd 50k adj.)
R: It was determined that the unit cell was body-centered cubic.
GETSTA- L B VOST A1) (1) ElFEOLE
B2 AT 220,

i;i@éj;;[irtngl)ﬂEd (adj) todo”ix [ (ADY) . FTDZEZ2RLLTND] 0D jz/ﬁ{ji%ﬂ%ﬁﬂfj_éiﬂ/\ ii},ﬁi)\ -3

WA, BIE, A RN A, 7 OERNCE < 02U,
- - IJ A2 i:E'/\
7 AEOMBHANAE (RHEEM) o NI (hyphen) TEEws,  DAEBETLE

(§3 -4 THIRAL ) g%ﬁﬁﬂfi E%ﬁﬁﬂ@p?ﬁ,

R: We used a 5-g sample for the neutron spectroscopy. (gram) ﬂﬁ@ﬁﬂ? %@ﬁﬂ?ﬁﬁﬁ (%f’j FRIEEO®) 1285 < ONEIE
R:  Finally, 6 g of the sample was purified. (grams) By & HHEEOBICEFZ ANV Z &

R:  Such behavior is characteristic of a two-dimensional system. R: The temperature rise occurred unexpectedly.

R: The spin dynamics of this system is two dimensional.

W: ** *"This article covers completely the topics. **
In Millikan’s oil-drop experiment, the electric charge carried by each oil drop R: Thisarticle completely covers the topics.
was found to be a multiple of a unit.
ﬁb%ﬁﬂ?ﬁ)&béﬁ'/\ (D) BhBhEE D E .
“The method of least squares” (/s —3&75) 1d “the least-squares method” & DA TR EIJ75\ IoXDLTWND.
HEV, “squares’iid < F TEHEIFIZT 5.

We MII qualitatively discuss the behavior.
These problems should first be considered separately.

signal-to-noise ratio: 155 M= b, SIN kb The signal corresponding to the E3 structure has always been observed.

mean free path: ¥ H BT (mean [ free path” % (& £fi)

Murphy's Law:
If anything can go wrong, it will.
Murphy's law of thermodynamics:
Things get worse under pressure.
Murphy's constant:

Matter will be damaged in direct proportion to its value.
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(2) FH/%(&/I %gj_éﬂi“n—.l
1. almost

W: ** Almost the dislocations were annihilated.**
R: Almost all the dislocations were annihilated.

B A Rrd & X (2T almostall” &2 AV, BRE 2R3 & 121X almost” 72 1)
THoThb.

R: Almost all the oxygen was absorbed.

R: Almost all the researchers in this field agree with this conclusion.

R: At that point, the crystal almost reached the required temperature.

R: When we closed the valve, the reaction had almost been completed.
2. enough

+4358\ >« strong enough  (enough strong & W S FRFHZY H AR ANIZZ )

When the spins of a pair of nucleons are opposite, the attractive nuclear force is
not strong enough to bind them together.

3. respectively
W: ** A=1, B=2, C=3, respectively.**
R: A=1, B=2 and C=3.
R: A, Band Care 1, 2 and 3, respectively.
(ABC BNEWVEEMDOLEIE, HfEe KREELAITBE L < T
ROV DT 1,23 EDORIERDLND DL LA, )

4. firstly
W: ** Firstly, ... second, ... last, ....**
R: Firstly, ... secondly, ... lastly, ....
R: First,...second, ... last, ... (R#¥LZ, . . . WIS, . . . &&BIZ, .. .)

“last”, “lastly” @3>V 2 “finally” % HWTH L.
“Atfirst (n.)” IXRFEARIBFIZOZHANS. LB RZRITHR & ITRR 5 R

RS DL xR L THNS. BB05R @W%%TT "First”
*KJ)@R@@K%P%@&%%T%%.WZ

At first, this theory was not widely accepted.
WS L TZOHEGRIFMDD D BIXAITZITANGNR) S T273,
I, ] EWVNIHI =T UARDHS.

(TETH

ATk

5. hereafter
** We will abbreviate this to “HTSC”” hereafter.**
R: From now on, we will abbreviate this to “HTSC”.
R: We will abbreviate this to “HTSC” here.
SCERNZIEREVTIZZR WS, “hereafter” (X the hereafter” 7’ (3674 ] % B0k
THDT, e [QIRDEWNELENT 5.

(3) &Rl
however, hence, thus, therefore, furthermore, accordingly, otherwise 72 &
HLETRFITEHD. Z2DOXEDEDITHEET D DITITMHE 2 220,
HEiaA (because, although, if 72 &) LIRFRILZ2WE DI

“However”® fGaai H = FrIZ L < T 5

W: **The results are interesting, however, their interpretation is rather
misleading.**

R: The results are interesting. However, their interpretation is rather
misleading.

R:  Although the results are interesting, their interpretation is rather misleading.

(i) WELOEFETITHAW D Z E 2372008, 5k “however” D TFE1E )N F

FREOBRHAZEALTHNLZONE L,
You can act however you wish. BOFE72 X O E-> T L,
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§5-3 LLEXICBE9 HFKIR (Comparison)

Sample B was 10 mm shorter in length than sample A.

Iron has a greater specific gravity than aluminum. (aluminium)
Hydrogen is by far the lightest gas.

Boron nitride is as hard as diamond.

Nickel does not have so high a melting point as tungsten.

REICIEZET HHEERR
1. compared with (compared to)
W: ** X is much larger compared with Y. **
R: Xis much larger than Y.
R: Xis very large compared with Y.
“..er” & compared with” 1L & HIZHE A RT O T, BEERE LN L.

2. different from
W: ** X'is much different from Y. **
R: Xis considerably / very different from Y.
R: X differs greatly from Y.

W: ** The electrode system was different between theirs and ours. **
R: Their electrode system was different from ours.

3. an order of magnitude O & #7

R: The transition temperature predicted by the mean field theory is two orders
of magnitude smaller than the observation.
R: .... is smaller than the observation by two orders of magnitude.

4. by afactorof N N % (o THIEGM) O&LZATHAND. )

R: We have recently improved the sensitivity by a factor of twenty.
R: The contribution from higher-order processes is smaller by at least a factor
of five.

(Exercise 5-1)
1.

2.
3.

.unique 27 OEDD

R: The differential equation, with the initial condition, has a unique solution.
TV EDD” LM ERD D H DT, ik E>< 272D,

very, rather 7¢ & OFEE 2 F T RIFI TEAM L 72 D T TE 220,

“common” & [F4EC, ““more common”, ““more unique” & X T& 72\,

TR ER L A E iR L.

AR -fE (orbit) FH AAEH O RITEH TE S .

SRTOETOREZEHEMICERL L O (Wewill ...).

52 BT RFEF O OEIXIRED 3 FIZHAFIT 5 (proportional to).

A OERITEFOEE LY 3HRE V.
BBV AEAER & B AR OBIITREWEREZH DD TRV ERE

2ol - T (@F long) B HNTET.

L TA v a kA TFEE 4 IRGTORFZEHERHAR (space-time continuum) &

L CRoik L7z,
Z O LW BN & » TESMES T 5 UL BB LT,

== M) N =a— Y JITERICHETOIEE A EEED RV

FTTHLIN, VT FARITENENR+L £-1 ThD.

Fanagle's rule:
Experiments should be reproducible; they should all fail in the
same way.

Fanagle's rule:
Teamwork is essential. It allows you to blame someone else.

Futility factor:
No experiment is ever a complete failure; it can always serve

as a negative example.
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